John 1:1
Luke 8:6



 is the continuative use of the conjunction KAI, meaning “And,” followed by the nominative subject from the neuter singular adjective HETEROS, meaning “other [seed].”  Then we have the third person singular aorist active indicative from the verb KATAPIPTW, which means “to fall: fell.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The active voice indicates that other seed produced the action.


The indicative mood is declarative for a simple statement of fact.

This is followed by the preposition EPI plus the accusative of place from the feminine singular article and noun PETRA, meaning “on rocky ground.”

“And other [seed] fell on rocky ground,”
 is the additive use of the conjunction KAI, meaning “and,” followed by nominative neuter singular aorist passive participle of the verb PHUW, which means “to grow up.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The passive voice indicates that the seed received the action of growing.


The participle is a temporal participle that precedes the action of the main verb and can be translated “after growing up.”

Then we have the third person singular aorist passive indicative from the verb XĒRAINW, which means “to become dry, dry up, wither Mt 21:19f; Mk 11:20f.  Of plants without good roots Mt 13:6; Mk 4:6; Lk 8:6.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The passive voice (the plant receiving the action of being withered) is used in an active sense—the plant withered.


The indicative mood is declarative for a simple statement of fact.

 Next we have the preposition DIA plus the accusative of cause from the neuter singular articular present active infinitive of the verb ECHW, which means “to have.”  With this we have the negative MĒ, meaning “not.”


The present tense is a historical present, which describes the past action as though occurring right now for the sake of vividness or liveliness in the narrative.  It is translated by the English past tense.


The active voice indicates that the plant produced the action of not having moisture.


The infinitive is an infinitive of cause,
 translated “because it did not have.”

Finally, we have the accusative direct object from the feminine singular noun IKMAS, meaning “moisture.”

“and after growing up, it withered, because it did not have moisture.”
Lk 8:6 corrected translation
“And other [seed] fell on rocky ground, and after growing up, it withered, because it did not have moisture.”
Explanation:
1.  “And other [seed] fell on rocky ground,”

a.  Jesus continues the parable of the sower and the soils by describing what happened to other seed.  Not all ground is covered with rich thick topsoil.  Some places in the ground have lots of rocks both on the surface of the soil and just underneath a thin layer of soil.


b.  This kind of rocky ground provides no room for the roots of a plant to grow.  The roots can’t push through the dense rock, making it impossible for a plant to grow in these conditions.

2.  “and after growing up, it withered, because it did not have moisture.”

a.  The phrase “after growing up” doesn’t necessarily refer to a full-grown plant, but to a plant that sprouts and begins to grow, giving the appearance that it is going to do well in this soil under these conditions.  The plant begins to grow but does not continue to grow.


b.  After the spring or fall rains the plant does well and seems to thrive because it is getting watered consistently from the rain.  But the rain doesn’t last.  And the rocky soil doesn’t hold any moisture.  After days and days of no rain the thin soil quickly dries and the rocky ground holds no moisture.  This causes the plant to wither and dry up.  Its growth stops and soon its life ends.

3.  Commentators’ comments.


a.  “A second portion of the seed falls on rock, a thin layer of ground with limestone right under the topsoil, a condition common in the Palestinian hill country.  This is not a field with many rocks, but a base of rock under the soil.  In an unplowed field, such land is not easily spotted.  At first, all looks fine as the plant sprouts up and grows.  But eventually the plant withers.  Luke alone attributes the loss to lack of moisture.  The root cannot receive water because the ground cannot hold moisture.  Matthew and Mark speak only of the plant’s lacking root, by which they mean the lack of a developed root system.  Luke is aware of the problem being a lack of root, but he holds until the interpretation [of the parable] Mark’s description of the seed’s lack of root.  Luke does not mention details that Matthew and Mark do: the quick initial growth and the scorching of the plant by the sun.  The point is that ultimately this seed is unproductive.”


b.  “The sower casts seed again, and it lands on rocky soil, where it quickly sprouts, only to wilt in the Palestinian sun.”


c.  “Palestine is a very stony country.  The seed did not fall on bare rock, but on thin soil covering a ledge of rock.  The warmth of the rock would cause the seed to sprout quickly, but the soil would dry out rapidly, and the young shoots would wither.”
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